
B  How much is . . . ?

1/3 of 45 . . . . . . . . . . . . . . . . . . . . 3/4 of 48 . . . . . . . . . . . . . . . . . . . .

1/4 of 32 . . . . . . . . . . . . . . . . . . . . 2/3 of 24 . . . . . . . . . . . . . . . . . . . .

1/2 of 68 . . . . . . . . . . . . . . . . . . . . 3/5 of 25 . . . . . . . . . . . . . . . . . . . .

1/8 of 160 . . . . . . . . . . . . . . . . . . . . 2/9 of 27 . . . . . . . . . . . . . . . . . . . .

1/5 of 65 . . . . . . . . . . . . . . . . . . . . 1/50 of 450 . . . . . . . . . . . . . . . . . . . .

1/20 of 240 . . . . . . . . . . . . . . . . . . . . 1/2 of 450 . . . . . . . . . . . . . . . . . . . .

1/10 of 105 . . . . . . . . . . . . . . . . . . . . 4/8 of 100 . . . . . . . . . . . . . . . . . . . .

1/3 of 69 . . . . . . . . . . . . . . . . . . . . 2/3 of 300 . . . . . . . . . . . . . . . . . . . .

C  World wide
How many slaves do you think were
shipped and sold world wide? 

a. 13 million

b. 12,5 million

c. 7 million

d. 100.000

The Zeelanders shipped a total of 270.000 
slaves, 90.000 enslaved Africans did not survive 
the voyage. 
What portion of the total is this? 

. . . . . . . . . . . . . . . .

The Unity's voyage from Zeeland to Western Africa lasted well over 
two months. First The Unity sailed to the Upper Coast, then to the Ivory 
Coast and finally to the Gold Coast. The captain and first mate traded as 
much cargo for slaves, water and rice as possible. Per trade location the 
demand for goods and the supply enslaved Africans varied. Men were 
more expensive than women and boys were more expensive than girls. 
Gold and ivory were bought in addition to slaves.

Western Africa

g
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Tip: use the notes box below for your calculations

Lesson 3.2



E  Write in words

218 . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

1643 . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

101 . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

23000 . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

7002 . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

16018 . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

300000 . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

23 . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

F  Write in numbers

Two thousand thirteen: . . . . . . . . . . . . . . . . . .

Two thousand five hundred and seventy seven:  . . . . . . . . . . . . . . . . . .

Seventeen million fifty three thousand nine hundred and eighty: . . . . . . . . . . . . . . . . . .

One hundred and eight: . . . . . . . . . . . . . . . . . .

Six hundred seventy eight thousand: . . . . . . . . . . . . . . . . . .

Thirty thousand two hundred and two: . . . . . . . . . . . . . . . . . .

Six thousand two hundred twenty seven: . . . . . . . . . . . . . . . . . .

D  Which fraction goes with it?
Put that in the first column.

50 % = . . . . . . . . . = . . . . . . . . .

12,5 % = . . . . . . . . . = . . . . . . . . .

10 % = . . . . . . . . . = . . . . . . . . .

33,3 % = . . . . . . . . . = . . . . . . . . .

40 % = . . . . . . . . . = . . . . . . . . .

25 % = . . . . . . . . . = . . . . . . . . .

20 % = . . . . . . . . . = . . . . . . . . .

75 % = . . . . . . . . . = . . . . . . . . .

66,7 % = . . . . . . . . . = . . . . . . . . .

80 % = . . . . . . . . . = . . . . . . . . .

60 % = . . . . . . . . . = . . . . . . . . .

Now write the right decimal answer in the  
second column.
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